
PORTABLE SKID BUILDINGS 




T,O, STEEL 

I, 
I, 

l, 

IN-BEAM (AT 
LlFT!NG POINTS) 

C-CHANNELS (A T ~ 
EVERY 1'-(' (40Smm) 

STRUCTURAL SlEEL SKID 

' ,- LiFTING LUG 
(SEE DET. 'A') 

I 

3 l/t' 

LIFTff~ 
LUG 
PLATE 

II 

:: 
...JL 

I 

: 
' 

O)I~; L 
LIFT LUG DETAIL 'A' (RXED) 

.3 1/t' 

- LUG-°nhmrU:! PLATE. 

L_ t' ~±rl 
W- BEAM ~ 

I 
~ W-BEAM 

~.!.O. STEEL I 

~, 

COMMERCIAL TILE 
FINISH FLOOR LIFT LUG DETAIL '8' (DRACHABLE) 

STEEL PLATE 

1 -1 - O'"SCAlL 

W-BEAM (AT 
PERIMETER) 

W-BEAM 

LIFTING LUG 
(SEE OET. '8') 

FLOOR LA your ON STEEL SKID 



FLASHING 

SIDE 
FLASHING 

TOP CHANNEL 

RMB 
WALL PANEL 

TOP 
CHANN[ l 

STEEL 
OUVE.RSKID OR 


CONCRETE 

RMBBASE BASE G 

WALL PANELFLASHIN BASE 

CHANNEL 


INSULA TEO 
CONCRETE STEEL DOOR 
ANCHOR 

SHED TYPE 

SCALE 1/4'.,-(1"

TYPICAL RMB 
ROOF AND WALL PANEL 



ICE RAKE 

RIDGE VENT 


ROOF FLASHING'-::~~~~~~ 

RMB A 


ROOF PANEL 


ROUND ROOF 

VEN TIL ATOR 


RMB 
ROOF PANEL 

EAVESTROUGH 

DC'I\,NSPOU 

LOUVERWINDOW 
REMO VA8 LE --lI.mH-HII-­

INSULATION
WALL PANEL 

CANOPY 

RMB 

WALL PANEL 


STEEL 
SKID OR 
CONCRETE 
BASE 	 BASE 


FLASHING 


BASE 
CHANNEL 

CONCRETE RMB 
ANCHOR WALL PANEL 

TYPICAL RMB GABLE TYPE 
ROOF AND 	 WALL PANEL SCAlE ';~.-t'-d' 



2 1/2" 
~1/2" lr 1/2" 
1/2" 

2 1/2,,1 3 3/4' 
~/2" J' 

r 
1/t' 

1/2" 

BOTTOM & SIDES TOP 
TOP FLASHING 

(UTILIDOR)WINDOW TRIM FLASHING 

5/8" 

21/2"1/2" l r 1~/4"
I 1/2" 

3/4" 
1" 

DOOR DRIP DOOR THRESHOLD 

l/t' ~31/4" 
1 1/2" 

1/2" 

BASE FLASHING 

3" 2" -----, 

/ "C- 11" 
3 4 1/2" 

EAVE DRIP (GABLE) 

2 7/8" 

BOTTOM CHANNEL 

5" 

3/4"[ 

1/2" 

EAVE DRIP (SHED) 

2 15/16" 

r--l'" 

1/2" 

TOP CHANNEL 

3/4" 2 1/2" 

1ffi3' 
L 
3/4" 

REMOVABLE PANEL 

FLASHING (OUTSIDE) 


3" 

/2" 
J' 

1/2"~
 
OUTSIDE CORNER 

FLASHING 
(UTILIDOR) 

1/2" ~11 /t' 
1/2" 

BASEBOARD FLASHING 

COMPON EN T IDEN TI TIES 


. 1 2" 

1 "~ 
2 3/4" 

INSULATION CHANNEL 

2 3/4" 

1/2" 1 1/2" 
~ 

3 1 /2" 

REMOVABLE PANEL 

FLASHING (INSIDE) 


j" 1/2" 

r 
1/2"J J 

INSIDE CORNER 
FLASHING 
(UTILIDOR) 

1/2" 

1 1/'" [,1,1' 1/1" 

1 5/8" 

U-CHANNEL 
(UTILIDOR) 



1 1/2" 4" 

2" 
3 5/8" 

1/2" 1/2" 
1 l/t 1 1/2" 2" 

HAT CHANNEL LINER CORNER 
3/4" 

l/t' 
3 1/4" 3/4" 3 3/4" 3/4" EAVESTROUGH SUPPORT 

5/8" 

5" 
6 1/2" 

6"1/2" 
5"2" 

2" 1 3/4"1 l/t' 4" . 
1/2" 

3 l/t'1 1/2" 1/2" 
1/2" 

1/2" EAVESTROUGH INSULATION RIB (R-12) 

ROOF FLASHING (GABLE) ROOF FLASHING (SHED) 

5/8" 

1/2" RIDGE CAP 1/2" 

5/8" 
9" 

1/2" n1/2" 

VARIES 

6 1/2" 
1 3/4" 


3 1/2" 


INSULAnON RIB (R-20) 

VARIES 

TWO PIECE RIDGE 

r 

COMPONENT IDENTITIES 




1 " I. I.
1 1 

4 1.3/16" 4 13/16" _-¥-_ 

1'-3 3/4" 

1'-4" 

7/8" 

4 13/16" 5/8" 

TYPICAL PANEL PROFILE 





OVERLAP BASE 
CHANNELS 
A T COR NER 

FIELD NOTCH 

BOTTOM CHANNEL I 


FIELD MITRE----+-, 

BASE FLASHiNG 


~OTE: 
3ASE FLASHING 
IS CON TINUOUS 
,,,,ROUND CORNERS 

FIELD DRILL HOLES 
FOR ZAMAC PINS 

CONCRE TE SLAB 
OR GRADE BEAM 

ZAMAC PIN 

NOTE: 

PLACE ZAMAC PINS 

A T EACH SIDE OF 


BUTT JOINTS AND 

AT APPROX. 2'-0" OC 

AROUND PERIME rER 


B~SE FLASHING 
2' - 0" OVERLAP 

CON TlNUOUS BEAD 
OF CAULKING 

<1 • 

4 
<1 4 

INSTALUNG BASE FLASHING AND 

BO-rrOM CHANNEL TO CONCRETE 

SCALE 1"=1'-0' 

BEND 
rREMOVE FINISHED MI TRE 

f::o. ::::: -/ 
I " L __ :::'~ 

CUT--~ 

BASE FLASHING DETAIL (CORNER CUT) 



I 

#8 x 1/2" TEK SCREW THRU EAVE DR IP 
& TOP CHANNFL @ 8" STAGGERED 

EA VE DRIP (STRUTT) 

JOIN TS OF TOP CHANNEL 
& EAVE D'~ IP OFFSl T BY 
MI . 5'-0" 

#8 x 1/2" TEK SCREW 
@ EA. LOW SPOT OF 
PANEL PROFILE - THRU 
BASE CHANNEL & 
WALL PANEl 

WALL CONSTRUCTION DETAIL 
SCALE 1/2"-r 0" 

STEEL 
SKID OR 
CONCRE TF 
BASE 

BOTTOM CH ANNEL NOTCHED 
TO RECEIVE WALL PANELS 

~-- BASE FLASHING 

#8 x 1/2" TEK SCREW 
@ EA. HIGH SPOT or 
PANEL PROFILE - THRU 
TOP CH ANNEL & 
WALL PAN EL 

CORNER 

PANEL 


RMB - - *+-H-t-H­
WALL PANEL 

TOP CHANNEL 
(SIDE WALL) 
PUSH TI GH T 
TO CORN ER 

#8 x 1/2" TEK SCREW 
@ APPROX 30" 
THRU PANEL RIBS 



BASE FLASHING 

~---RMB--~ 

WALL PANEL RIBS 

CONCRETE BASE 

NOTE: 
MAKE SURE THA T THE 
WALL PANEL RIBS ARE 
FACING THIS DiRECTION 

THE OU T- SIDE OF 
BASE CHANNEL MUST 
BE NOTCHED TO 
ALLOW THE WALL PANEl S 
TO SIT ON IT 
(SEE DETAIL-A THIS PAGE) 

NOTCHED BASE CHANNEL 

tiOTE: 
USING THE CUTTING LIST PA EL LAYOUT 
AS A GUIDE, LA YOU T THE WALL PANELS 
(WALL PAN ELS ARE PROFILED, ROOF PANELS 
AR NOT) AROUND THE PERIME TER OF THE 
RUILDING. BASE NOTCH OUT THE OUTSIDE 
EDCE OF THE BASE CHA NNEL ro CORRESPOND 
WiTH THE LOCA TION OF THE PANf L RIBS 

SCALE ,·-,'-0· 

u... 1 U1 
oQ;l 

0::: 
a::: 
~ ~ BASE CHANNEL 
tj ~ (OUT-SIDE) 

DETAIL - A 



CORNER ANGI E FASTENED TO 
VAPOUR BARRIER OVER---,. 
IN SULA TI ON ATTACH 
USING MET/-\L TABS (USE 
CUT-OFFS FROM COMPONENTS 
ON SITE. ATTACH TO 

BASE CHANNE LAND TOP CHANI EL 
W / #8xl/2" TEK SCREWS 

#8xl/2" TEK SCREWS . ""­
AT EVERY OTHER l OW 

RMB 

FLU TE A T PANEL RIBS 

LINER SHEETS 

INSULATION 4:. SPLICE A T LI NE R 
ROOF PANEL RIB PANEL OVCRlAP 

INSULATJON AND LINING DETAIL 
SCALE 1/2"=1'-0" 

LINER SHEET 
INSULA TION ---t­ (CUT TO CLEAR 

TIE RODS & BRACING
RMB IF APPLICABLE)

WAll. PANEL ---.,-V-"" 

~&---#8xl /2" TEK SCREW 
A T EVERY 2ND PROFILE 

./,1 
, , CONCRETE TYPICAL SECTION 

SCALE 1 1/2" = 1'-0·~ <B~SE 



DRILL HOLES TO DRAIN 
WA TER @ 2' -0" 

RIDGE CAP 
(1 /4" TO 3/8") Oc. 

#8xl/2" SELF TAPPING 
SCREW @ EA RIB 
(OPTION TO SEAL WITH 
CAULKING TO PREVENT 
L -AKAGE) 

"'--------!-- CAULK iNG 

LI NER PANELH8x1/2" SELF TAPPING ----r<7L----' 


SCREW @ EVERY OTHER NO TE: 

LOW PROFILE 
 i~ fl D CUT ~ . ' \JER 

(EVeRY LOW OF LAPS) 	 AROUND TIE RODS 
AND UPRIGri TS 

TIE ROD UPRIGHT CONNEC TED 
ANGLE IRON TIE ROD TO THE UNDERSIDE OF TWO PIECE 

RIDGE AND TO THE TIE ROD WI TH 
3/8" BOLTS (AS REOUIRED)NOTE 

THE PURPOSE OF T E TIE ROD IS TO K[[P THE WALLS FROM 
SPREADI NG. THE UPRIGH T IS TO KEEP THE TIE ROD FROM SAGGING 
AND roGETHER WITH TI E ROD RPDUCE STRUCTURAL STABILITY 

RJDGE SECTION 

SECTION OF TWO PIECE RIDGE6'-0· 
SHOULD BE OFFSET BY 6'-0" 

TO MAIN T AIN STlRENGlrl 

(START WlTH 1'-6" & t-o" SECTION)
1 	 r 

." 

'- ­

I 

I, 
! 

i 
TWO PIECE RIDGE CONNECTED WI HI 
#14xl/2" LONG SFLF TAPPING SCREWS 
STAGGERED @ 6" O.c. 

RIDGE OFFSET 



A. 

"1'1 
(5) 3/8"0 x 1 1/4" LG. 

~ BOLTS/SIDE 

J!I 


I FIELD DRILL 7/16"0 

I 
 HOLES FOR UPRIGHTS

f- I 

I 
 (
 
I 

IL~~lL~~~~~=i~====~~===' 

1-+ 

--il--II 

~ + 
1 

1-+ 
I 

1-

/I,'''' 

A 

J 

-r]; --L~ -~~- ­
It====l>'~}'==;==~-rL'fL-+_-.Ji~LI____tt---l: 
I 

I 

I 
 TL3"x.3"x1/4" nE ROO 
I 

A -- 'I 
1'- ­

A. 
'p - ­

INSIDE WlDT11 OF BUILDING TIE ROD LENGTHl l 
1 1 

1-PIECE OR 2-PIECE 
3/8"0 x 1 1/4" LG. RIDGE 
BOL TS, BOLT THRU 
EAVE STRUTT & 
TOP CHANNEL 

~-~- ANGLE TIE ROD 
LEG UP UPRIGHT ASSEMBLY 


(FIELD DRILL 7/16"0 HOLES) 


RMB RMB 
WALL PANEL WALL PANEL 

SECTION "AA" 

NOTE: 

UPRIGHTS NOT REQUIRED FOR SMALLER 

BUILDINGS (16'-0· WIDE OR LESS) 



EAVESTRUTT CONNECTED 

.J~ 

-­

r-­
I 

i 

TO TOP CHANNEL 

+ + + + + 

EAVE SiDE OF BLDG. 

-------------r-----------­

+++++ +++++ 
~------------r------------

~1 ~ 
-"2 
UJ 0 2SE 

ROO F ROOF STARTER 
PANEL PANEL PANEL 

---------------------------------rr--------------­

+ + + + -+­ + + + + 
+ + + + + + 
+ + + + + + 

w._

+ + + ~ 
----­ --------------rr---------------­

f =+ + + + + --------- - ------.­ ~ 
ROOF ROOF 
PANEL PANEL 

#14x3/4" SCREWS AT 4' THRU Wj 
THE ROOF PANEL & T~E RIDGE g z 
(SCREWS STAGGERED ~S SHOWN) UJ CS 

~ 

r--­

+ + + + + 
rl­ -----------­

'\ 

2SE W 
-" 

STARTER ~ 
PANEL 0 

RIDGE 

l EAVESTRUTT CONNE CTED 
EA VE SIDE OF BLDG. 

TO TOP CHANNEL 

LT~~6A:J 

~ 

SCREW PLACEMENT IN ROOF PANELS 

NOTE: 
CONSIDERATION OF PREVAILING WIND 
MAY BE USED TO DETERMINE WHICH 
END OF ROOF TO START A 1 

~	1'4"/4" S"S AT 4" THRU 
PANELS & EAVE STRUTT 
(AS SHOWN) 



DOUBLE AL IMINUM 
HORIZONTAL SLiDIN 
WIN DOW 

NOTE: 

--.. 
G 

BOOTOM OF WINDOW 
HAS WATER DRAIN 
KNOCK OUTS 

CAU LK FRAME 

"­
"" i'­

i'­

"#14xl/2 H.W.H. 

. · 
"" ~ 

· 

·. 
II 

II 

.· 

· 

· 

· 

t t . . 

;f y 

~ If 
IINOO' iUNT . . 

II III 

, 

t ~ . . . 

I 

/ 

/f/
/ 

I 

/ 
/ 

/ 

/ 
/ 

/ 
/ 

/ 
/ 

/ 

\ . -I. 

.. 
. 
· 

· .. 

·. 

... 

L 

.· 
/ 

/ 
/ 

· 

· 

· 

J I r-­
WAL 

RMB 
L PANELS 

._ L­ L 

/ 

/ 

BASE FLASHING 

.. 

.. 

-----­ r­ :­

BA SE CHANNEL 

t-

r-- RMB 
WAL L PANELS 

NOT[ -
PLACE WINDOW OR 
000R UNI T IN PLANI'lJED 

ATION & BL :LDLOC 
WAL L AROUND UNIT 

r-- ON INSIDE OF FRAME 
-rr-r-l,.,--,--rr..--,-,-rTT.-----­ ...__----,.,-,­- - --r-r-,--,-,r-r--T-r- SCRE W TOP & BO TTOM 

II IIIIIII II~II -~>",J:I II IIIIII ;~~~C~,~~TO WAlL 

r 

#14xl/2" H.W.H. 
AT 1'-0" OC . 

WINOOW AND DOOR UNITS 
SCALE 1/2·=1'-0· 



RMB 
WALL PANEL 

1'1.....>--- LINER 

WALL 
RMB 
PANEL~"~ 

LKING 

- -- t----
I 

I 

t---LlNER I


CA 
I
LOOSE FILL 

FIBERGLASS I 
I 


I
IN SULAnON 
I 


I 

I 


I
-

PENETRA TION 

MUL TI PIPE 
I
PENE rRATION 

I 

I 


I 

I 


I 

I 


I 

I 


I 

I 


I
FLASHING FOR SINGLE PIPE PENETRAnON I
STEEL FL ASHING I 

PLATE 

WALL FLASHING DETAIL 
SCALE 1 1/2"-1 ' -0" 

. .. .
1-­-­ - -­ - ---­ - ---1 
I I 

,I I, 

I I ' 
I IL ____ _ __ _ ________ ~ 

MULTI PIPE 

FLASHING FOR MUL 1'1 PIPE PENETRAnON 

STEEL FLASHING I 
I 

I 

I 


I 

I 


/ 
I 


I 

I 


I 

I 


I 


I
PLA TE 

I

LOOSE FILL I 


FIBERGLASS I 
I 


INSULA TlON I 

I 


I 

I 


I 


I 



. 

STRAP 

STEEL ROD 

EAVESTROUGH 

EAVESTROUGH 

SUPPOR T 


TOP 

DOWNSPOUT 

ISOMETRIC VIEW 

EAVESTROUGH 

CHANNEL-~4 

RMB -----+<-.1 
WALL PANEL 

L 50 X 50 ICE RAKE 
wi 9.5 mm0 

RMB 
ROOF PANf ·

EAVESTROUGH AND ICE RAKE DETAIL 
SCALE ,"=1'-0" 



RIDGE CAPINSULA TI ON 

RI.l8 
ROOF PANEL 

EA VESDRIP --~ 

#' 4 SCREW c/w 
BO NDED NEOPRENE 
WASHER 

EAVESTROUGH 
SUPPORT 

TOP CHANNEL 

CLIP 

TI E ROD UPRIGH r 

@ @ 

24 GA PREPAI NTED 
ALUMINUM LINERRM8 
(COLOR WHI TE)WALL PANEL 
FASTENED WlTl-1 #8 
HEX TeCH SCREWS

INSULA1l0N 

RM8 
WALL PANEL 

24 GA. PREPAINTED 
INSULATION ALUMINUM LINER 

(COLOR WHITE) 
FASTENED WI TH #8 

BOTTOM HEX TECH SCRE~"'S 

AIR BARRIER 

I> 

CHANNEL 

"X~~-

CONCRFF 
SLAB c,. 

ANCHOR 
BOLT 

INSULATED BASE DETAIL 

INSULAfi ON 
CLIP CUP DETAIL 

GABLE EAVE DETAIL 

#8 SCREW 
(TYP) 

><fl-- AIR BARRIER 

INSULATION --fo,.- --"""c'1 j - 24 GA. PREPAIN TFD 
ALUMINUM LINER 
(COLOR WHITE) 
FASTENED WITH #8 
HEX TECH SCREWSRMB --"'"'-­

WALL PNJEL 
#8 SCREW 
(TYP.) 

INSULATED WAll DETAIL (PLAN VIEW) 



68 S C R E Vi -----<-fo-­

(TYP) 

TOP ---l--' 
CHANNEL #14 SCRE W c/w 

BONDED EOPRENE 
WASHER 

RM8 
WALL PANEL 

SHED EAVE DETAIL 

#14 SCREW 

68 SCRE W----­
(TYP.) 

#14 SCREW 

BASE ­ ----1-­
(TYP. ) 

CHANNEL 

CONCRETE 
ANCHOR 

WALL PA:\H 

#8 SCREW 

L'. 

CONCRETE 
SL~ 

INSULATION 
CLIP CLIP DETAIL 

BOTTOM 

CHANNEL 


#14 SCREW 

(TYP.) (TYP.) 

WALL DETAIL (PLAN VIEW) INSULATED WALL DETAIL (PLAN VIEW) 

RM8 RMB 

---""-­

---~"---

HX. 

INSULATION 

#14 SCREW c/w 
BONDED NEOJREIIJ E 
WASHER 

24 GA. PREPAINTED­

68 SCREW 
(TYP) 

ALUMINUM LINER 
(COLOR WHI TE) 
FASTENED Wi TH #8 

"-"1'--- ­ RM8 
WALL PANEL 

HEX TECH SCREWS SHED LOW EAVE DETAIL 

#8 SCREw 
(TYP) 

AIR BARRIER - -I!t 
r 
><" 

I 
I 

24 GA. PREPAIN TED-: < --t---- INSULATION 
ALUM INUM LI NER I 
(COLOR WHI TE) : 
FASTENED WITH 68 r 

HEX TECH SCREWS : 

#8 SCREW 
I 

...----..,'----- RUB 
WALL PANEL 

WALL PANEL 

24 GA. PREPAINTED --"
ALUMIN UM LINER 

r---:<J::;---~""'" I FL ASHING 

(COL OR WH liE) 
FASTENED WI TH 
HEX TE CH SCREWS 

#8 

INSULATION 

BOTTOM 
CHANNEL 

AIR BARRIER - -

r BASE 

CONCRETE '11/ CAULKING 
L'. SLAB 

ANCHOR ANCHOR 
BOLT BOLT 

BASE DETAIL INSULA TED BASE DETAIL 



1'-4" (TYP.) 

r r 
, , 

CONCRETE 
ANCHOR 

BASE DETAil (ANCHOR BOLTS) . 

RMB 
WALL PANEL 

BOTTOM 
CHANNEL 

ANCHOR 

BOLT 


\:> 

CONCRETE 
SUI8 D. 

z- ANCHOR SOLT ON BASE DETAIL 
SCALE 1 1/2"=1'-0" 

BASE CHANNEL 

OU TL!N[ OF 
DOOR FRAME 

BASE 
FLASHING 

<J Ll 
Ll <J Ll 

CONCRETE 
ANCHOR 

CONCRETE BASE 



0 

CHECK CHAINI ­

I 
I 

I--1 I 
'--../ I 

,ff'111
I 

II I I Y 
I 

I 
I 

I 
I 

,,,,,, ,,,,,,,,,,
'-iI~ 

IOPTIONAL CLOSUREI 
, II II,, 

, 
'>/:, 
~ , 

,,, 
~ ~ffi I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 

I 

.,;1'111 
I 

lilly 

I 

I 
I 

I 
I 

,,,,,,, 

m,,,,, 
'7J WALK-IN DOOR (3' X 71BARREl_ BOLl WALK-IN DOUBlEOOOR (6 X 1) 

INTERIOR VIEW FRONT VIEW 
DOOR UNITS 
SCALE 1/2"=1'-0" 

LINER 
r STEEL FRAME

CANOPY - ---0..-11 I 

OP TIONAL ~- -- - -------------- - - --- -- - ---- --1 

HINGE 
REINFORCING 

HEAVY DUTY 
HINGE 

n 
II 
U 

OP TI ON AL 

IWG vi NDO WS 


LOCK ING PANI C 
HARDWARE 
(OP TIONAL) 

I 

18 GA 000R­
FRAME 


STAINL[SS\ 
ST EL ~ HINGES 

,18 GA. DOOR 
 WALK-IN DOUBlE OOOR (6 X t) 

DOOR SLAB 
R- VAI_UE -OPTIONAL EXTERIOR VIEW 

I 
I 

I 

I 

,ff'111
I 

I I II Y 
I 

0 
I 

I 

,,,,,,,,,,,,,,,,,,, 
-


,,, 

11"* 
'X , 

,,,, JAMB DETAIL 

I 
/ 

I 
/ 


/ 

I 

/ 

/ 


/ 

/ 


/ 

I 

/ 
I 

/ 
/ 

/ 

/ 


/ 




15/16' 1 1/16" 

,:3" 

3" FRAME DIMENSIONS 

4 3/4" FRAME DIMENSIONS 

METAL DOOR FRAME DETAILS 

LINER 
STEEL FRAME 

HiNGE 
REINFORCING 

HEA VY DUTY 
HINGE 

LINER 

DOOR j
HEADER 

WEATHER­
STRIPPING 

THRESHOLD 

INTERIOR 

1--- RMB 
WALL 
PANEL 

---t---­ DOOR L1=:Ar 

EXTERIOR 

TYPICAL MANDOOR SECTION DETAIL 

ACTIVE DOOR LEAF 

ASTRAGAL FOR 
DOUBLE DOORS 

TYPICAL MANDOOR PLAN DETAIL 



CHANNEL 

EAVES DRIP 

TRANS' UCE NT 
ROOF PA EL 

TOP 

PARTIAL ISOMETRIC OF TRANSLUCENT ROOF 

TRMJSI UCF:NT 
ROOF PANcL 

TRANSLUCENT 
SHEET 

INSULA TlON 

INSULATION 

INSULATION 

TRANSLUCENT ROOF PANEL SECTION 

INSULA TION 


AI UMINUM 
 TRANSLUCEN T 
LlNI::R SHEE 

TRANSLUCEN T 
WALL PANEL 

WALL PANEL 

TRANSLUCENT WALL PANEL PLAN VIEW 

WALL PANEL 



ROOF HA TC H 
COVER Wi T 
UFTING I 'ANDLE 

Fl ASHI NG TO 
EX-;tNO TO 
PEAK OF ROOF 

RMB 
ROOF PANEL 

ROOF FLASHING 
& CAULKING 

PARTIAL ISOMETRIC OF 
REMOVABLE ROOF HATCH 

ROOF HATCH 
CO VER WITH 
LIFTING HANDLE 

RMB 
ROOF PANEL 

FLASHING TO 
EXTEND TO 
PEAK OF ROOF 

RMB 
ROOF PANELREMOVABLE ROOF HATCH SECTION 


THROUGH 'A-A' 


ROOF FLASHING 
& CAULKING 

GALVANIZED 
't CLIP 

HIGH SIDE 

LOW SIDE 
LI~[R 

REMOVABLE ROOF HATCH SECTION 



GALVANIZED 
SrFE L BLADERMB ----t-.=___ 

WALL PANEL 

CAULKING 
RIDGE 

e::::-..1::-­ #8 SCREW 

GALVANIZED 
SIEEL 
FRAME 

GALVANIZED 
STE fl BLADE 

RMB--~ 

WA PANE 

(TYP.) 

- GALVANIZED 
SCREE N 

-11--­ #8 SCREW 
(TYP.) 

GALVANI ZED 
SCREEN 

SPRING RETURN 
ACTUA TOR OR 
WING NUT 
ADJUSTMENT 

GALVANIZED 

CAULKING 
RIDGE 

FIXED STEEL LOUVER 

RMB--~~ 

WALL PANEL 

CALl KI IG 
RIDG 

--11-0--- 88 SCREW 
(TYP) 

INTERIOR 
HORiZONTAL 
SLIDE 
COVER 

STAMPED 
A~JM I NUM 
lOUVER 

,.....---41- GALVANI ZED 
SCREEN 

RMB--~ 

WALL PANEL 

STAIAPED lOUId:R 

PULL 
CHAIN 

OPERABLE AlUMINUM BLADE LOUVER 

PULL 

CHAIN 


SCREEN 

LlNK AG:: 
ROD 

EX TRUDED 
ALUM. 
I:lLAC E 

GALVANIZED 
SCREEN 



11---- LINER 

PROPEL_~

LINER 

WEATh::QHOOD ~ FAN 

RMB 
WALl. PANEL 

BACKDRAFT 
DAMPER 

PROPELLER WALL FAN (with EXTERIOR WEA THERHOOO) CENTRIFUGAL WALL FAN 

ROOF FAN 
(CEN TRIFUGAL OR 
PROPELLER TYPE) 

FLASHING 

GALVANIZED STEEL 
CURB 

RMB 
CAULKII'lJG RIDGEROOF PANEL 

FLASHING WITH 
CAULKING 
ALL AROUND 

INSULATION 

INSULATION BACKDRAFT
(ALL AROUND) DAMPER 

ROOF MOUNlED FAN ('III INSULATED CURB) 

ROOF AND WALL FAN 
SCALE 1 1/2" = 1'-0" 



RIDGE V[NT CAP 
GU SSET 
PLATE GALVANIZED SCREEN 

LINER PANEL 

RIDGE VENT DETAIL 
SCAlE 1 1/2" = 1'-0" 

RIDGE VENT CAP 

GAL VANIZED SCREEN 

RM8 
ROOF PANEL 

INSULATION 

RIDGE VENT - ISOMETRIC 



,------ STEEL PLATED CEN TER 
SUPPORT SHAFT MOUNTED 
ON BALL BEARINGS 

GALVAN IZED 
STEEL DUC T 

" 

""- LINER PANEL 

RMB 

ALUMINUM TURBINE 
BLADES 

ROOF PANEL 

INSULA TION 

TURBINE ROOF VENTILATOR 

GAL VANIZED SCREEN 

ROUND VENTILA TOR 
HOOD 

PIN & --~"' 
BU SHING RMB 

ROOF PANEL 

FLASHING WITH 
CAULKING 
ALL AROUND 

LINER PANEL 

DAMPER ) 

INSULA TlON 

STEEL CHAIN 

CIRCULAR GRAVITY VENTILATOR 


ROOF VENTILATORS 

SCALE 1 1/2" = 1'-0" 


